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Topic:- General Knowledge and Logical Knowledge

1 Some Girls are holding hands. Which girls are holding hands with Jyoti? / B oS fchal = BT U
BV &1 Tt wisfepal = S & BT ushs W &2

Pt FLA) et

1. Mona, Priti /ﬁl:lT, ifa
2. Priti, Ritu / Wifd, 35

3. Ritu, Sona / T

4. Mona, Sona /ﬁ:ﬂ, =T

Correct Answer :-

e Ritu, Sona /B, RSiE|]

2) If CARGO is coded OGRAC and TRAIN is coded NIART, then how is RAILWAY coded? / Tlﬁ'
CARGO B OGRAC & dYUT TRAIN DI NIART ¥ HIfsd fHar irar 8, df RAILWAY &1 Hd Sifsd
foar s

1. ILWARAY
2. YARILAW
3. YAIRLAW

4. YAWLIAR

Correct Answer :-



* YAWLIAR

3) Kohima is the capital of / FifgHr T B IS §:
1. Arunachal Pradesh / 33U UG

2. Sikkim / f&ifepH

3. Meghalaya / =3 [N

4. Nagaland / IS

Correct Answer :-

» Nagaland /-l INE

4) Find the odd one out: / Th ﬁwm 'Q'ﬁﬁm:
6, 12, 36, 144,715,4320

1. 54

2.36

3.715

4. 144

Correct Answer :-

« 715

5) Find the odd one out: / Tdh ﬁ'ﬂ'ﬂ[ﬂm ?ﬂﬁlﬂ:
1. Mathematics and Geometry / LI GIGRIEIIEIR]
2. Teacher and Student / fR1&/& U1 &=

3. Air and Oxygen / dIg ddl SRS

4. Flower and Petal / Tl dT q@

Correct Answer :-

« Teacher and Student / TRT&/® YT B

6) If 2006 ends on a Sunday, what day would be 15th January, 2007? / af& 2006 IIaR Y THIE ST 3,

@ 15 SFaRT 2007 B B AT e g2

(3)



1. Tuesday / HIICIdIR
2. Sunday / REEIN
3. Monday / AR

4. Wednesday / §YdIX

Correct Answer :-

e Monday / HHaR

7) The probabilities of Ram, Shyam and Mohan's, clearing an exam is 80 %, 60 % and 50 % respectively.
What is the probability that all of them would clear the exam? / ITH, TIATH dYT 151-']37{ ® T tl'\Pf&IT # 3ot
B Bt TR AT HHRT: 80%, 60% TUT 50% & | T Tt wiem & S<hiof g1 ST, sae! wa wiiiwar 82

1.24%
2.50%
3. 40%

4. 63.33%

Correct Answer :-
o 24%

8) In a certain code language, zee cin com means king was great; cin bana goap means holy great saint;
wisp sean bana means next holy day. Which is the word for saint in that code language? / T W
HIHT ﬁ, zee cin com T 3% king was great; cin bana goap BT 31 of holy great saint UT wisp sean bana BT

31 next holy day BIdT 81 SH B8 HIUT ¥ saint P foIQ 5 wreg &1 sxawTel fpar mar @2
1. bana
2. goap
3. wisp

4. cin

Correct Answer :-

9) If MANAGER is coded NZOZHDS, then how is ORGANISATION coded? / Tf& MANAGER &1 NZOzHDS T

Hifed f5ar SITar 8, °F orRGANISATION T S Pifed fHar S

1. PQHZOHTHUPM



2. PQHZOHHTUPM
3. PQHZOHTZUHPM

4. PQHZOHZTUHPM

Correct Answer :-
e PQHZOHTZUHPM

10) The jumbled letters of words are given below. Each letter has been numbered. Choose the option which
gives the correct order of the letters as indicated by the numbers to form the words. / Th e %ﬁlﬁ-ﬁﬁ

&R 1 fRE T §1 vl 31&R o wHifhd fhar T 31 39 faweu &1 A ot /e & Awtor & forw
TETa3i gIRT 31&RY & T HH B i1 gl

TLPNAE

123456

1.3,2,5,4,6,1
2.3,2,5,4,1,6
3.4,5,3,6,2,1

4.4,6,1,3,5,2

Correct Answer :-

« 3,2,5,4,6,1

11) jhacar exhibition, different cars are placed in a row. A car T is placed at the gth position from right, and
a car H is placed at the 10th position from left. If their positions are interchanged, T occupies 17th position
from right and H occupies 18th position from left. How many cars are there in the row? / Tth BR W&'ﬂﬁ,
AR RIS T Ui & AT TR 1 TH IR T I SIS 3R T 99 RIF TR 94T HR H B a1 3R A
109 I TR T TR AR 3 FRIR § e A SR A WA g, A T R A 177 WA R
TUT H TS SR & 187 VI W vEar 1 UfHT & fraeht R 22

1.29
2.25
3. 27

4. 26

Correct Answer :-



12) Who is the first Indian woman cricketer to be included in the Marylebone Cricket Club as its

honorary life member? /a'ﬁ:[q??ﬁ WWWW, WWWE&W
TS TGT & =0 § S &1 & qrelt 32

1. Smriti Mandanna / Wﬁf Hedl
2. Anjum Chopra / W Eh'CIET
3. Mithali Raj / TEQTeil _1ST

4. Punam Raut / 1H Ad

Correct Answer :-

+ Anjum Chopra / 3H EIEE]

13) Which one of the following vitamins has a role in blood clotting / Frafafed fefm A9 RRr
e H faae! YfHeT 52

1. Vitamin A / fdeTfi T A

2. Vitamin K / e &

3. Vitamin D / fdeIf® D

4. Vitamin B / T9ef®@ B

Correct Answer :-

« Vitamin K / fae1®@ &

14) Which of the Sikh Gurus composed the Zafarnama ? / foa Rra R = ST &1 T°-T &1 2
1. Guru Ram Das / [¥= X[Hald

2. Guru Gobind Singh / TR= Tifeig Rig

3. Guru Hargobind / [ 8X1 IEE
4. Guru Nanak / [ A

Correct Answer :-

« Guru Gobind Singh / TR= Tifeig fig

15) Which of the following highways is not a part of the Golden Quadrilateral? / Ffofsfeada#=

T AT, T oA Ty o1 Rt T @2

1. NH 55/ U-UH 55



2. NH 79 / U-ud 79

3.NH2 /U2

4. NH 45 / U-Ud 45

Correct Answer :-

« NH 45/U-Ud 45

16) Which of the following districts does NOT belong to the Malwa region? | Frgifed ® Q S19-91
fSre wTerar &= F 81 Sirar

1. Shajapur / RITSITYR
2. Mandla / HIUSAI
3. Dewas /%a'm

4, Ratlam / IddH

Correct Answer :-

e Mandla / HIUSHT

17) Which of the following is also called the ‘House of Elders’? /ﬁ'ﬂﬁ’l’@ﬁ A DA B 3T
vesw W wearar g2

1. Vidhan Sabha / [a4T T4
2. Gram Sabha / UTH JHT
3. Rajya Sabha / XTSH JHT

4. Lok Sabha / €/ JHT

Correct Answer :-

+ Rajya Sabha /X IJHT

18) The Triveni Sangam at Allahabad, is considered to be the meeting point of which 3 rivers? /

gaTedrg # Al I, fore 3 Afeal &1 W Rie 9T STaT 82

1. Yamuna, Satluj, Beas / JHI, o], U
2. Ganges, Ravi, Beas / T, Tﬁ, 3R]
3. Ganges, Yamuna, Brahmaputra / T, gy, delgAd

4. Ganges, Yamuna, Saraswati / T, g4I, TR



Correct Answer :-

+ Ganges, Yamuna, Saraswati / T, Y-, T

19) The Hornbill Festival is celebrated in December every year in the Indian State of ./ R

T H 7® 99 feuwer & giHfaa Agiead 31T STt o |
1. Arunachal Pradesh / 3RO TG RT

2. Sikkim / RifcpH

3. Meghalaya / e

4. Nagaland / BININE]

Correct Answer :-

o Nagaland / TN s

20) The Bhimbetka Caves and shelters are a __site./ fisesr 'Q'%'{ICFI'Q 3T 3me Udh
RATI

1. UNESCO World Heritage/ Uﬁ@ﬁ fay eRigR

2. Modern Architecture/ WWW
3. Sacred/ HTH®

4. UNICEF World Heritage/ I fa% eRIgR

Correct Answer :-

¢ UNESCO World Heritage/ W fay eRIgR

21) The Mahatma Gandhi National Marine Park is located in / TgTeT Ti¢h TI'@'{T Wﬂ_&pf 3,
A fRa

1. Pirotan Island / TORIAT ﬁ)fq
2. Port Blair / 01¢ &R
3. Rameswaram / Tlﬁ”d'\"q

4. Ganga Sagar Island / TRTI IR g9

Correct Answer :-

e Port Blair / tﬁé TR



22) Marathas took power of Madhya Pradesh after the death of / H UG H TH DT HY & diq
RT3 A SHfreR et o R

1. Asoka / 3{=NepT

2. Aurangzeb / SffTSre

3. Harsha vardhan / %’Bfa@‘—r
4. Kanishka / 1 sh

Correct Answer :-

o Aurangzeb / SR

23) Satpura Wildlife Sanctuary is located at / dYST TSI AHIRTY WTV e %?
1. Hoshangabad / élQi‘llala

2. Chhindwara / f&5=GdTaT

3. Sindh / R

4. Khajuraho / @I\ERIE;I
Correct Answer :-

» Hoshangabad / gIRITIETG

24) The Governor of a State is appointed by the / et Irsa & ITSuuTe B m gkl ﬁ'ﬁiﬁ T
T 3:

1. People of the concerned state / HafArd T & AN

2. Chief Minister / THHAT
3. President / Tl'gqf?f

4. Prime Minister / THTTHAT

Correct Answer :-

¢ President/ quﬁ

25) The ‘National Energy Conservation Day’ is observed every year on / Td® a8 ‘?T@'q Soll YR&UT
feawr S BT ST 7 |

1. 14 December / 14 f&TwR

2. 14 November / 14 FdeR



3. 14" October / 14 ISR

4, 24" December / 24 fETTR

Correct Answer :-

« 14" December / 14 T&TwR

26) The state of Meghalaya was carved out of / o IS0 W 3IERT Hb AT ST TATIT IT?

1. Manipur / H0TGR

2. West Bengal / BIEEEI]

3. Assam / 3{HH
4. Nagaland / -TI¥ s

Correct Answer :-

e Assam/ 3HH

27) According the Census 2011, which district has the highest literacy rate in Madhya Pradesh? KL

2011 B SFRIOMT ¥ SR, 994 TR & fpw e & Aierdr 91 @ 999 |Were?
1. Indore/ﬁ?

2. Balaghat / dIciTHIC

3. Jabalpur / SISETYR
4. Bhopal / T

Correct Answer :-

« Jabalpur / ST&[eIYR

28) The Right to Education was added to the Fundamental Right in the Constitution of Indian through

the: / HRd & TfquTT & RT Hifee iftrer A fRan & SifrerR P SiieT ™ AT:

1. Constitution (93" Amendment) Act, 2005 / HfHTT (93T T=MeH) AR, 2005

2. Constitution (87th Amendment) Act ,2003 / SfAeT (871 T=NeM) SMAFTH, 2003

3. Constitution (86 Amendment) Act, 2002 / TfAUT (8691 TRMEH) TAFTH, 2002

4. Constitution (97th Amendment) Act, 2011 / TfAeT (97d1 T=NLA) HTAFTH, 2011

Correct Answer :-

(10)



+ Constitution (86 Amendment) Act, 2002 / HIHUTT (86T TRME) JAMIH, 2002

29) The dance-drama form of expression, ‘Yakshagana’ is traditionally associated with which state? /

HFHATHR BT TI-ACE FU &R’ TWIRFIA 7Y ¥ e I A ST 52
1. Karnataka / 1

2. West Bengal / BIEEEHIN]

3. Kerala / Hd

4. Maharashtra / HeIRTY

Correct Answer :-

o Karnataka / W

30) Complete the series choosing the missing number: / & T TAGR YEAT BT YRT DIToTT:
36, 6,49, 7,64, 8, 81,

1.13

2.10

3.12

4.9

Correct Answer :-

« 9

31) Select the option that is true about the Statements and Conclusions given:
Statements:

Some vowels are consonants

Some consonants are alphabets

Conclusions:

I. Some vowels are alphabets

I1. Some consonants are not alphabets /

I famed &1 7 S Sifds 3T 1T Hy=l 3R fewul & 9k & 98l 3
HYT:
PO R A&
PO o 3R T
A
(11)



I. PO W SE&R®

II. $B ol &R T &

1. neither conclusion I nor conclusion II follows / 7 81 Fs6Y 1 3R 7 8} fsdf 11 S{TIRTT A G
2. both conclusion I and II follows /ﬁ'@v_ﬁh 3hT II aﬁ:ﬁ ST W %

3. only conclusion II follows / Haqd ﬁ'@?ﬁ T TR0 hT %

4. only conclusion I follows / Had ﬁ'@b_él SITARTT W%

Correct Answer :-

« neither conclusion I nor conclusion II follows /- Epf ﬁmﬁﬁl S'ﬁT « 30[ ﬁwﬁf T SR A %

32) Indian is the most populous nation in the world. / HRd, ﬁ%l' | ?Tﬂ'\q' 3t BIIETT:&
qrem Y 7

1. 39 T
2. 4% 2T

3.2/ gy

4. 5t/ Oizrar

Correct Answer :-

33) Complete the series choosing the missing letters: / Ul &Y 3ERY B ECCZEICR] Ea| R PIfoIg:
AZC, BYD, CXE,

1. DVF

2. DWE

3. DWG

4. DWF

Correct Answer :-

« DWF

34) Complete the series choosing the missing number: / ol J&AT TP T H’JI'TRT PIfoTT:
7, 10, 15, 22, 31,

(12)



1.45
2.40
3.42

4. 39

Correct Answer :-
o 42

35) Complete the series choosing the missing number: / oI T FTP J&al 393“1?1 PIfoIg:

67,62,56,49,41,
1.28
2.36
3.32

4. 30

Correct Answer :-

36) The series given below contains a sequence of numbers. Identify the incorrect combination: EiG] ?:gprI'sc

Saar H, TSIl o1 TP HH SURRIG & | Terd JaIo Ugar-e:

3,6,5 18,7,42,9, 162
1.6

2.162

3.42

4. 18

Correct Answer :-

37) In a certain code koda se poda means house full movie and dam cas koda means full of life
.Which is the word for fu//in that language? / U W1 P18 YT H, koda se poda &1 A4S house

(13)



full movie AUl dam cas koda b1 Y full of lifeTIdl 1 9 BIS HIUT H full < TAT ThH Mo P

SR fobaT T 82
1. koda

2. dam

3. kas

4. poda

Correct Answer :-
* koda

38) Select the option that is true about the Statements and Conclusions given:

Statements:
Some buds are flowers
Some flowers are shrubs

Conclusions:
I. Some flowers are not shrubs
II. Some buds are not flowers /

I fapeu &1 99+ Fifre e Gy e FY=1 R fHewul & I § 93t 8:

BY:

PO Hiewal ga ¢

e

1. $° Gd AIfSal 18l &

II. $S Biedl Bl T8 &

1. neither conclusion T nor conclusion IT follows / 7 & FEFY I 3R 71 g F5hH 11 SrI¥RUI #vd &
2. both conclusion I and I follows / FT5HY T 3R 11 GIFT SITERUI HRdl &

3. only conclusion II follows / Al fASHY 1T STERTT BT §

4. only conclusion I follows / Fae 5HY I 3TIRUN T §

Correct Answer :-

« neither conclusion I nor conclusion II follows / 7 &1 B 1 3R 71 & fseef 11 IR0 PRAE

39) Select the option that is true about the Statements and Conclusions given:

(14)



Statements:
Some ants are mosquitoes
Some ants are spiders

Conclusions:
I. Some mosquitoes are not spiders
I1. Some mosquitoes are spiders /

I fawen &1 7= P Sife T e Fy= sk el & o & w8 &:

DY

o Hifedl 7w §

ﬁ@é:

I O TR AFS! T8l &

I $© TR el g

1. both conclusion I and II follows / F&HS 1 7R 11 GH SIHRUT Rl &

2. only conclusion IT follows / A SHY IT 3FHR0T BT §

3. only conclusion I follows / Fad R I 3ER0T HRT §

4. either conclusion I or conclusion II follows/ IT <l fSHY T S7aT fSHT 11 R0 el &

Correct Answer :-

« either conclusion I or conclusion IL follows/ 3T a1 F5BY I 37aT fshY 11 ST AT

40) Select the option that is true about the Statements and Conclusions given:

Statements:
All juices are drinks
Some drinks are beverages

Conclusions:
I. Some juices are beverages
I1. Some beverages are juices /

I [qweu &1 7= PRI Sifes 3T 7T Fy=i SR frepef & T & w8 &:
DY

ol e §a §

7o e e

Ao

1. 59 @ U9 §
(15)



II. $ U9 G §
1. neither conclusion I nor conclusion II follows / 1 33[ ey 1 G'ﬁT I Ep[ By 11 S{FARTT GG %

2. both conclusion I and II follows / F5BY I 3R 11 G ST A G
3. only conclusion II follows / Had FspY 11 STZIRT hdl g
4. only conclusion I follows / Had Y 1 SITART] IRAT

Correct Answer :-

« neither conclusion I nor conclusion II follows / ébf fAspy 1 3R T é)f ey i S{FURUT GG %

Topic:- Mental Ability and Mental Aptitude

In the sequence shown below, which figure comes next? / wir<l &2 I°F

e #, AT HbIT Bied T AT
T AFTN AT
L 11 _—:_

Correct Answer :-
(16)



2
) In the sequence shown below, which figure comes next? / #i/<l

0 ) 8 9
9

1,

16\
Correct Answer :-

0

3) Ifthe following two squares shown below overlap, which one of
the following options is formed? / AT, &&= &r a1 FTdeaad
i &.ar T & & i @1t fdeed aa9ar &

(17)



— e i i

P

4) The Product of ages of Naman and Aman are 120. If the age of Naman is more than the age of Aman
by 2 years. Find Aman’s age. / TH 3% 3[H ®1 3T BT UG 120 3| TS THT $Y 3T, 30 H1
AT A 2 99 31 81 ) 3T 1 3 fpail &2

1. 10
2. 11
3.3

4. 13

Correct Answer :-

« 10
(18)



5) In a class of 40 students comprising of 20 girls and 20 boys, the average age of 20 girls is 16. The
average age of the class is also 16. Find the average age of the boys in the class? / 40 = Bl U DHEIT |
20 TSP 3R 20 ASTHAT &, 20 TSTHAT DI 3T 3T 16 T8 B 1 3R Tvgol Hem o1 3iad g ot 16
U 3| ASHI DI TG BT ATUTA 1A PHOIL?

1. 16years / 16 99
2. 14 years/ 14 CL
3. 12years /12 T

4. 10years /10 CL

Correct Answer :-

e l6years/ 16 CL

6) A person walks a certain distance and rides back taking a total time of 37 min. He could walk both ways
in 55 min. How long would it take him to ride both ways? /Wﬁﬁﬁﬁﬁﬁﬁw AR
TAB AR AT 3% A fordt ard} o1 weg A 37 e O 99 B 9% 31 ST 3R & gaa 34 gil
D1 9 55 e & 90 T IHa1 8| 3R 98 a1 3R & JaR! it Hae o dl T8t g3t a9 e § 39
e g @

1. 72 minute / 72 THE
2. 40 minute / 40 fFFe
3. 19 minute / 19 &

4. 92 minute / 92 T

Correct Answer :-

« 19 minute / 19 fC

7) 217 * 217 + 183 * 183 =?
1. 80578

2. 90868

3. 79699

4. 81258

Correct Answer :-

« 80578

(19)



8) The sum of the ages of a father and son is 45 years. Five years ago, the product of their ages was 34. The
present ages of father and son respectively are , respectively. / forar \"rﬁ? E] Ed| ST BT IR 45 a'd:
21 5 99 ud, frar 3R I 1 31y &1 U a 34 4T T 3R U &t adu omg s fhast 32

1.40 and 5 /40 3R 5
2.36and 9/36 3R 9
3.39and 6 /39 3R 6

4.38and 7/38 3R 7

Correct Answer :-

« 39and6/39 3R 6

9) Fifteen years ago, Ramesh was half of Suresh in age. If the ratio of their present ages is 4 : 5, what will be

the total of their present ages? / 15 atfq:q‘,rfrsraﬁ engai*\fraﬁarrgaﬂaneﬁ Ft1 afe 3T adu=
3T BT SAJUTE 4:5 § Y STP! TAHT Mg PT AN FT T2

1. 45 years / 45 Gl
2. 55 years / 55 Gl
3. 35years /35 Gl

4. 65 years / 65 Gl

Correct Answer :-

o 45years/ 45 o

10) The present ages of three persons are in proportions 4 : 7 : 9. Eight years ago, the sum of their ages was

56. Find their present ages (in years). / 99 fdTal &Y adw= ST pT JUTd 4:7:9 %I saﬁqﬁsﬂiﬁ
3T BT AN 56 AT IAP! IAHM Mg a6l | fHa-t gif2

1. 8,20, 28
2. 16, 28, 36

3. 20, 35, 45

4, none of these / S_FFEI | ﬁ’sﬁ ‘_'I_E?f

Correct Answer :-
« 16,28, 36

11) Virat Kohli has an average score of 64 in last 30 matches. After the last match his average became 63.

What is his match score?/ﬁ@ﬁsoﬁﬁﬁﬁ?ﬁmmaﬁmwﬁ?mwia'rmﬁ%rffm
) ) T o ) (20)



ST d 63 8T TATI 3 HA H 3 TR AT THIR d-1AT?
1.1

2. 127

3.33

4. 34

Correct Answer :-
e 33

12) A trader had 100 kg of sugar, part of which he sold at 8 % profit and the remaining at 18 % profit. He
gained 10 % on the whole transaction. How much did he sell for an 18 % profit? / Th TR & U1 100
oo i+ Y o T fexar 8% & 14 TR 3 oA €, [ & 18% & @1H TR 31 71471 3P §RT
T 7 ATH 10% & | fpasit T B I 18% & A1H TR 91 82

1. 50 kg / 50 T3
2. 70 kg / 70 fabum
3.20kg /20 fpam

4.30kg /30 fobur

Correct Answer :-

« 20kg/20 fobur

13) Speed of a boat in upstream is 13 kmph while downstream is 5 kmph. What is the speed of the boat in

still water? / YRT @1 fAUId fa=M & T 919 31 =1at 13 fohHl/Eer @ Safe yRT &1 fe=n & 99 &1 9« 5
fdi/der 21 RRwa A =19 31 91 fea gnfi?

1. 8 km/hr / 8 fohu/der
2.9 km/hr / 9 THI/AeT
3. 20 km/hr / 20 oA/l

4. 18 km/hr / 18 foseY/&eT

Correct Answer :-

« 9km/hr/ 9 fpmi/Eer

14) A 120 m long train is moving at a speed of 54 kmph. How long will it take to cross another train, 200 m

long, moving in same direction at a speed of 90 kmph? / Udb 120 Hiex il aT'l' 54 fpiiae Fraa A Ia

(21)



el & | QUTTGRT H 90 TR HI/UC P =Tel H T X6l b 200 HICY T HT ¢ S UIR I H Th d-l JHT

A2
1.8sec/8 9.
2.12sec/ 12 9.
3.2sec/2 9.

4,32sec/32 ﬁ

Correct Answer :-

e 32sec/32 @

15) In an examination, a student scored an average of 71 marks per paper. If only he had scored seven more
marks in Physics and five more marks in Sanskrit, then, he would have obtained an average of 73 marks.
How many papers were there in the examination? / Wqﬁ&ﬂ 'Ef', U ST 3T 71 3 TP UYuT o
Trar 81 afe I Hifas fagm & 7 oi iR ik TRpa & 5 8ic 3iftie Frd ot SUP GRI UTW it
1 3T 73 B oI | ofien § fram vy wnfire 82

1.6
2.7
3.5

4.8

Correct Answer :-

e 6

16) Twenty years ago, Ram was half of Sam in age. If the ratio of their present ages is 3 : 4, find the Ram's

and Sam's present ages. / 20 aﬁq&,maﬁmmﬁﬁm‘gﬁaﬂ?ﬂeﬂl ulﬁtﬁﬁa?fmqangm
SIUTH 3:4 § < I SR T8 1 gdar= oMy forasit 32

1. 30, 40
2. 40, 30
3. 30,20

4. 20, 30

Correct Answer :-

(22)



Which one of the following four addresses is NOT EXACTLY same as the one given below? /

1 fad 2 9 val 7 9 9 33 R va & S guE B A ve 181 82

Darren Johnson
Dick Collins Hall,

Redhill 51 Street NW11

(i) Darren Johnson
Dick Collins Hall,

Redhill 51 Street NW11

(ii) Darren Johnson
Dick Collins Hall,

Redhill 51 Street NW11

(iii) Darren Johnson
Dick Collins Hall,

Redhill 51 Street NW11

(iv) Darren Johnson
Dick Collims Hall,

Redhill 51 Street NW11
1.iv

2.1

3.l

4, iii

Correct Answer :-

o v

18) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: / & &} 7 g@a ®, 31&RY 3R TRew3it &1 v wH Afed €1 Tad Tt ugnfAu:

i.juklf0215flkuj
(23)



ii.juklf0215fIKuj
iii.juk1f0215flkuj

iv.juklf0215flkvj

4. iii

Correct Answer :-

19) Find the average. /30ad FRrepferd |
3,9,15, 25,35 & 45

1. 26

2.20

3.24

4.22

Correct Answer :-
« 22

20) The diagonals of a rhombus are 10 cm and 24 cm long. How much would its side measure? /Wmﬁ'{{?ﬂ

& fawut 10 A, 3R 24 Tt T B 1 TS Yo &1 Twars @ gl
1. 17cm / 17 941,
2. 18cm /18 T,
3.13 cm/ 13 AT,

4. 26cm / 26 9.

Correct Answer :-

e 13cm/13 @Iﬁ

21) One type of acid is 80 % pure. Another type of acid is 95 % pure. In a beaker, both the acids are takenin2:3
ratio, respectively. What is the percentage strength of the resulting mixture? / b 3] Al R[&<IT 80% %, QI

(24)



ST 95% YK T | Yh dIh H, GIHT SR DT hHRA: 2:3 b SIJUId H TeTdl SIIdl 81 S Y THHUT dT [kl
yfer=ra feamr gme

1.90 %
2.86%
3.89%

4.85%

Correct Answer :-
e 89%

22) Aroomin a house measures 5 m in height and its length is 3 times its breadth. The cost of whitewashing its
four walls at Rs. 2.50 per sq m is Rs. 200. What is the cost of carpeting the floor at Rs. 5 per sq m? / Uh BT |

TP P D SHATs 5 Wiex ¢ 3R 30| TaTs 39| ASTE D al AT 81 P! ARI SR} &1 gars &1
gz.somuﬁaﬁiﬂaﬁa?@rzoowﬁ%ls\q%ﬁtﬁszfu?swﬁ/aﬁ:ﬂaaﬂa?ﬁw&mﬁm
o= smem?

1. Rs. 60 / 60 30

2. Rs. 50 / 50 30
3.Rs. 72/ 72 308

4, Rs. 84 / 843Uy

Correct Answer :-

e« Rs.60/60 30

23) Sudha is reading a 445 page book. She has already read 157 pages. If she reads 24 pages a day, how many
days will it take for her to finish the book? / JHT 445 t[g-’f ot TP frare ug 381 81 98 Siad® 157 U8 UG gt
21 9fe 98 24 gy ufafe uedt 3 O Ot fvare ware o= o S fva=n gwa ke

1.12 days / 12 fa9
2. 15 days /15 fa=
3. 10 days / 10 f&A

4.19 days / 19 fa

Correct Answer :-

« 12days/12faT

24)

(25)



A's salary is 60% more than B's salary. If A got a raise of 40% on his salary and B got a raise of 20%, then by what

percent is A's salary more than B's?/ A BT dd9 B P 9a9 A 60% GI'FW%I U%A%"a_cﬁﬁm% PIARBF
a9 H 20% BT Terws] B STl g d A BT A dad, B & da I fraq ufa=ra 3if¥re grm?

1. 86.66%
2.92.33%
3.98.33%

4.95.11%

Correct Answer :-

* 86.66%

25) Asells a table at a profit of 15 % to B, who in turn sells it back to A at a profit of 20 %; thereby gaining Rs. 69.
How much had A paid for the table originally? / A Wﬁ\_ﬂaﬁ' 15% & |14 WR B ﬁéaé?n%l B @EFI? AP
20% P TTH TR 39 a7 & O 39 69 Tu firera 1 A 7 goema A a9 a3 & @t e

1. Rs. 300 / 300 STY
2. Rs. 500 / 500 ST
3. Rs. 800 / 800 TUY

4, Rs. 400/ 400 3T

Correct Answer :-
e Rs.300/300 %09

26) Due to an increase of 25 % in the price of eggs, 4 eggs less are available for Rs. 20. The present rate of eggs

per dozen is: / 3T B PIAd H 25% aﬁq@%w, 20@'&&3“@'&@'43{%@%&%]@3@
US| Bt qad § P T ]2

1.Rs. 15/ 15 30T
2. Rs.18 /18 TUY

3. Rs. 20/ 20 30
4. Rs.10/10 3T

Correct Answer :-

e Rs.15/15 30

27) Of 375 customers of a cafe, 75 ordered tea and 300 ordered coffee. What is the ratio between tea drinkers to

coffee drinkers?/@%%}'WSm—éﬁﬁﬁ, 75%“@300%%@%@“ I 9 9ra 8fiR

(26)



DIWT YT dIedl pT SIqUld HM18?
1.1:4
2.4:3
3.2:4

4.4:1

Correct Answer :-

28) By selling an article for Rs. 480, Natwarlal gains 20 % on the cost price. At what price should he sell it to
obtain a gain of 30 %? / fHul 9¥g BT 480 TUT H AT WR TeaRATd Pl WG o WR 20% HT AT farar g1
30% TTH HHH & fore 39 It g &1 foram w0 & S== ghme

1. Rs. 520 / 520 30
2. Rs. 320 /320 34T
3. Rs. 420/ 420 U4

4. Rs. 120 / 120 304

Correct Answer :-

« Rs. 520 /520 %09

29) Two persons, A and B together can do a piece of work in 15 days. After working together
for 5 days, A leaves and B alone completes the remaining work in 16 days. What is the ratio
of the number of days taken by A and B to do the work separately? / | Tﬂ%{, A 3T B fHdt
PTH P THATY 15 37 & $3d 51 5 37 1Y 19 1 & 91g, A F1H SIS 341 8, AT HTH $I B 3bdl
16 T A @RI HR uraT 81 A 3R B GRT 3ITHI-3EHT HTH B3 F T 918 THT BT SJuTd GHI:

1.2:5
2.3:5
3.5:2

4.5:3

Correct Answer :-

« 5:3

30) Find the sum of the series:

1+4+7+10+13+16 + 19+ 22 + eooveeoo+ 40 / §HCAT 1+4+7+10+13+16+194+22+..........+40 BT T GIIT:
(27)



1. 287
2.199
3. 207

4. 256

Correct Answer :-

o 287

Topic:- Science and Simple Arithmetic

1) Find the remainder when 14x2 — 29xy — 18y?is divided by (2x = 5y). /STd 14x2 — 29xy — 18y2
@ (2x — 5y) CaRT eIierT fmar Sar § ot uter AT &Y

‘IJ

L
et

2xy

A

_S}y-i-
3.
4.0

Correct Answer :-

2 . .
) Findx3 ++3, ifx+y=3andxy=2. / AG x+y =3 A xy =2 al x¥ +F AT &I

1.6
2.15
3.9

4.12

Correct Answer :-

3) The cube root of the number —250.047 is: / 9T —250.047 & T el &
(28)



1. Positive or negative / YdIdHD T BUITHD

2. None of the above / 3UR[dd =) Oblig:lﬁ
3. Always negative / &g HBUTHD
4. Always positive / & YD

Correct Answer :-

» Always negative /iﬁﬂw

4) 5 a3 sanb
G xE) () -
1s

1. 125
E
25

2.

25

3. E
1
£

4.

Correct Answer :-

1
25

5) Inapamllelogram ABCD, if 24 = 40°,then 2€ = /W AT | ajia ABCD. ¥ AR
£A=40°,dl £C=

240°
1.

40°
2.

50°
3.

140°

(29)



Correct Answer :-

40°

6) Fe + HCl —-> ? =+ H,

1. Ferric hydride / BR& EHESIES]

2. Ferric chloride /Wm

3. Chlorine /Br?’ﬁﬂ?

4. Ferrous chloride / TR FIRTES

Correct Answer :-

« Ferrous chloride/mfﬁﬁﬂg_s

7) Which of the following is a natural magnet? / fadasnTe m qHEP 87
1. Bar magnet / S Db

2. Magnetic needle / Wﬂ ﬁé

3. Lodestone / g TR
4. Electromagnet / éga’cr gidh

Correct Answer :-

« Lodestone / gHch URR

8) Ravi’s income was Rs. 60000 per month. A pie chart is made to express his expenses in different
purposes and his savings. He saves Rs. 12000 every month. What angle will his savings represent in the

pie chart? / I3 BT 3T 60000 TUY ufa A1 Y| fafrar Se=al A SHS W= MR IS IUd B o
P & oL TP qeds QI S 747 ¢ | 98 Ufd |IE 12000 ¥UY B 99d Hdl ¢ | TAES
Y@ A DI A1 B0 TP gad B UG R Hm?

36°
1.

72°
2.

30°
3.

60°

(30)



Correct Answer :-

72°

9) What is the area of the largest square inscribed in a circle of radius 5cm? /5 LiE| ﬁﬁﬁmaﬁrw

9 A Il T 98 I 371 &Fwd fopaa 82
1.25sqem /25 if et
2. 100 sq cm /100 if o

3. 150 sq cm / 150 i o
4.50 sqcm/Soan@'Jﬂ

Correct Answer :-

¢ 50 sqcm/SOan@Tﬂ

10) Impression of an image persists in the retina for: / EfeUeq Rfe) # ufdfda ot td 19 91 gl
]

1. 1/12% of a second / TP TS P 1/12 YT A P 1T
2. 1/16M of a second / Th Vb & 1/16 HI TP & folg
3. 1/10™ of a second / TH T&HS &b 1/10 HIT db & foTT

4. 1/8M of a second / Th Ah g & 1/8 HIT dPb b folg

Correct Answer :-

o 1/16M of a second /W@W% 1/16 lﬂ"T?l'OF%ﬁfQ

11) If perimeter of a circle is 22 cm, then its area is: /Tlﬁ ﬁﬂﬂ"ﬂﬁ'ﬂﬂ 22 '\ﬁ"ﬂ%, aql STBT W% :
1.38.5 sq cm / 38.5 911 THT

2. 40 sqcm/403"’f@’£ﬁ

3.38 sqcm/387:|7f@1ﬂ

4.37.5sq cm /37.5 O 9t

Correct Answer :-

. 38.5sqcm /38.5 O AT



12) If square of a number is 484, then the number is: / I Th AT HT1 M 484 F, dl AW & :
1.28
2.24
3.21

4.22

Correct Answer :-

13) The surface area of a cube is 96 sq cm, then its volume is: /W‘Eﬁmqéh aaw 96 a"f'\ﬁ'lﬂ%,
o IHBT ATYAT @

1.48 cu cm/48‘€l:f@3ﬂ
2.256 cucm / 256 PEEEE
3.16 cu cm/lGEI:T@'Jﬂ

4, 64 cucm/64‘a:f®'5ﬁ

Correct Answer :-

. 64cucm/64‘€Ff@Iﬁ

14) The length of one side of a rhombus is 20 m, then its perimeter is: / Wﬁ'ﬂﬁiﬁ Udh HFITEF&

TS 20 HeT 8, A SHBTURAT B -
1. 160 m / 160 HIcY

2. 100 m / 100 HIcX

3.40 m /40 Hic}

4.80m /80 iR

Correct Answer :-

« 80 m/80HIR
15) In a parallelogram, adjacent angles are: /wmagﬂ\—:r ff, SITA W% :
1. All the above /maﬁﬂlﬁ

2. Supplementary / JURP

3. Complementary / I
(32)



4. Equal / JHIH

Correct Answer :-

» Supplementary / W

16) Which one of the following elements does NOT belong to phloem? /ﬁmﬁﬁﬁqmwuﬁr@ﬁ
Heifera 75T 82

1. Phloem parenchyma / T/iITH Tgdd

2. Tracheids / SHIS

3. Sieve tubes / AT AACDTY

4. Companion cells / Waﬁﬁqu

Correct Answer :-

« Tracheids / CHIS

17) Which one of the following diseases does NOT require use of antibiotics? /A A P H

TS ST STIRT G BT ATTTIH T TeT 8ial 22
1. Typhoid / CISWIgS

2. Tuberculosis / &R

3. Malaria / AQifRal

4, Diarrhoea / @Xd

Correct Answer :-

« Malaria / HARAT

18) Which one of the following animals is not grouped under the class Aves? /ﬁ'l:fﬁ ﬁﬁ)‘\qtﬁﬁﬁm
it & it wHfed el fpar mar 82

1. Pigeon / PR
2. Bat / dHIGS
3. Sparrow /Th%EIT

4. Crow / DdIh

Correct Answer :-

« Bat/ TGS
(33)



19) Pick out the status of ‘cell ' from the following . /A A A pilRmer ot fRAfa &1 999 $31
1. Molecule / 3{7]
2. Building block / YT T (SfcET sl

3. Organ / 3fT
4. Atom / UXHIY] (TUCH)

Correct Answer :-

 Building block/W@’S’(ﬁ%ﬁTW

20) Rearing and breeding of country birds is called . /umrtrfém’f (ﬁﬁaé) WW—W@
UEEE] FeaEr gl

1. Dairy farming / RG]
2. Pisciculture / HUIeld

3. Poultry farming / H"ffqm_"f

4. Apiculture / HYHSTI TTer

Correct Answer :-

e Poultry farming/lf["ffqm:[

21) Which of the following damages the ozone layer of atmosphere? / ﬁ"}lﬁ‘l'@?f A Y B 'd'l'ﬂﬂ?.’éﬂﬂ 3feie
R Bl JHA UgdTdl o?

1. Chlorofluorocarbons (CFC) | FARTGAR BT @Q’W)
2. Sulphur dioxide /Wgﬁmﬁg

3. Carbon dioxide / BTe ETQG{\I%R‘:ITSE'

4. Nitrogen dioxide / TS oI SIS3HIFARE

Correct Answer :-

« Chlorofluorocarbons (CFC) | FARIGARIBTS @Q’Cb_%ﬁ)

22) Skeletal structure surrounding the chest cavity is called . /B'I?ﬁ'ﬂET F AU P BT
U B FEI AT &

1. lung cover/ 'aﬁqv_STW
(34)



2. rib cage / U TUSR
3. chest bone /E'I_cﬁ'clﬁggf

4. chest cover / BTt AR

Correct Answer :-

« rib cage / UGl fUSR

23) A normal human ear can tolerate sounds up to: / T THII HIFd S ga- AAT 9 B
@f~ AT T8 & aHdl 8

1. 190 decibels / 190 SIS
2. 220 decibels / 220 SHTA
3. 80 decibels / 80 ST

4. 160 decibels / 160 STITA

Correct Answer :-

« 80 decibels / 80 ST

24) Identify the food item that is NOT formed as a result of fermentation. / 3¥H Wiqy iRl
Pl UL i fHvas & gRumIwa=T "8l It

1. Cake W/

2. Cooking of rice / dIdd BTl
3. Alcohol / TeepIgTet

4. Bread / S

Correct Answer :-
« Cooking of rice / dTde] bl

25) Plant with multiple sets of chromosomes is called . / arer forT W &
JEuHed B € SH T oIl 8|

1. haploid / 3fOrq
2. polyploid / §gTfOrd
3. triploid / IO
4. diploid / fgiiora

(35)



Correct Answer :-

« polyploid / SO

26) We need to conserve Biodiversity because it: / 89 Sig fafdear & wRféd w31 I oRewa &
P T8:

1. Helps in hunting of animals / SIFaR| & RIBGR & TG Hdl %

2. Helps in global warming / e aiftfT & A HRar g

3. Helps in rapid urbanization / ool I TRIBR0 o Haa hdl %

4. Maintains forest reserves / a7 @1 o atlTQ A dI %

Correct Answer :-

« Maintains forest reserves / 9 &1 oTd FHTU Wl %

27) A simple pendulum takes 20s to complete 40 oscillations. What is the time period of the pendulum? / Yh

TR AP 40 S D1 IRTHIA & [T 20 Vb ST AT A1 8 | AP D1 THY afy |1 32
1. 2s

2. 8s

3. 1/4s

4. 1/2s

Correct Answer :-

28) What sum invested for 1 years compounded half yearly at the rate of 4% pa amounts to Rs.

1326517 / 1 94 & o8 fopa= eI @1 fHra=n fooam am ot <7t {6 42 ufaad &t g uw aref affe
TYIord B WR 132651 U gl 82

1. Rs. 152000 / 152000 ST
2. Rs. 115000 / 115000 ST
3. Rs. 125000 / 125000 ST

4, Rs. 75000 / 75000 ST

Correct Answer :-

« Rs. 125000 / 125000 ST



29) 10% of a number is 63, then the number is: / YD T B[ 10%, 63T Al A3 G :
1. 6300

2. 630

3.0.63

4.6.3

Correct Answer :-
e 630

30) A coat was sold by a shop keeper at a gain of 5%. If it had been sold for Rs. 1650 less, he would
have suffered a loss of 5%. Then its cost price is: / T ghTAGR GRI @?ﬁfﬁ 5% & TAIH TR ST
T AT1 TfS S 1650 TUY B & ST AT Af gHTGR B 5% DI g1+ f oATeil | STDT H9 T4 &

1. Rs. 16000 / 16000 STY
2. Rs. 16500 / 16500 ST
3. Rs. 15000 / 15000 ST

4, Rs. 15600 / 15600 ST

Correct Answer :-

« Rs. 16500 / 16500 3TA

(37)



